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ENGLISH VERSION

Instructions :

(1) All question are compulsory.

(2) Marks are denoted on right side of questions.

1 Explain : 20

(1) Null Hypothesis and alternative Hypothesis.

(2) Type-I error and type-II error.

(3) Level of significance.

(4) Acceptance Rejection Area.

OR

1 (a) The correlation coefficient of sample size 25 is r= 0.55 10

drawn from bivariate normal population. By using this
sample data it is said that the population correlation

coefficient is 0.62 from which sample is drawn from

population ?

(b) For the given data test the significance difference between10

two sample means :

SampleISampleII??

Size 100100

Mean 108113

Variance 6436

2 (a) Explain F-test. 10

(b) Explain t-test. 10

OR

2 (a) For the given data perform t-test : 10

SampleI? 1291211810161213101615

SampleII??????10139810911

(b) Perform F test of equality of variances : 10

SampleSizeofsampleVarianceMean

I 1022.542

II 914.024
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2?3 (a) Explain -test. 5

x 10
(b) For 22 contingency table  the calculated value1010 x

202?of  is , then find the value of x.
3

OR

3 Fit a Poisson distribution for the given data. Test the goodness15

of fit :

x 0123456

f 3540192022

4 Explain analysis of variance in detail. 15

OR

4 For the Latin square design perform analysis of variance :15
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